Phys 481








Winter 2012
Homework #13
(due Wednesday, February 22, 2012)

1. Reading assignment: Hecht 4.1-4.7, 9.4-9.7.
2.   (5 pts) Hecht 4.55

3. (15 pts) Consider amplitude reflection coefficient under conditions of total internal reflection given by, for example, Eq.(4.70) on p.125 (at the angles of incidence above the critical angle). As you know, under these conditions, the reflection coefficient is complex. Present it in the form r = |r| exp(i) and find the phase  as a function of angle of incidence. Sketch this dependence.
4. (10 pts) Hecht 9.32

5. (10 pts) Hecht 9.34

